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III Semester Examination
M.A.
ECONOMICS
Paper V
[Demography]|
Time : Three Hours | [ Maximum Marks : 80

[ Minimum Passing Marks : 16
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Note : Part A and B of each question in each unit consists
of Very Short Answer Type Questions which are to
be answered in one or two sentences. Part C (Short
Answer Type) of each question will be answered

200-250 words. Part D (Long Answer Type) of each
question should be answered within the word limit
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Unit-I

1. (A) SHIfheh! FT §? SARAT HifoT | 2



(B)

©)

(D)
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What is Demography ? Explain.

ST & TR 9§ 3ATT -1 A & 7 ATl

SHifSTT | 2

What do you mean by size of population ?

Explain.

SR SHEE | 1 AR T ? 4

What do you understand by optimum popula-

tion ?

AT
Or

STHIfshen! AT TTHTTSIR Heed fafEm |

Write social importance of demography.

SHIfRehl Rl IRV HIfSTT qen SHT A
ERIE 12

Define Demography and write its importance.

AT
Or

STHIfoheht AT THGIT i STATEHTcHR e

eI |

[ 2]

2. (A

(B)

(©)
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Explain critically the theory of demographic

transition.

ECTES | |

Unit-II

ST UM § 37T P THed 62 2

What do you understand by International
Migration ?

TR T G ? 2
What is urbanisation ?

YO H 39 I FHS § 7 UM b
JEl i AT HiTT | 4

What do you mean by migration ? Explain the

consequences of migration.

AT
Or

QYL Sh1 ETHISIR To ATfieh Hgcel oidmed |

Describe the social and economic importance

of migration.
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Age groups in 70 and
0-10(10-30(30-50(50-70
years above
Population |5000{10000|15000 {10000 | 2000
Deaths 125 | 30 30 | 200 | 1000
FHRE-IV
Unit-IV
4. (A) At ¥ N IWE ¥?2 2

What do you mean by fertility ?

(B) A UE Hmcagehdl | =R fafawl 2

Write the difference between fertility and

fecundity.

(C) 3@l &1 yg@ fagvand fafe |

Write main characteristics of fertility.

AT

Or

ALl ohl GHTfeId Shid oTel Tel HTHISTR T2ehi

&1 AR HIT |

Write indirect social factors affecting fertility.

[
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(D) YSH-RITEd | 319 91 §Herd €7 YRd H S=4
YRl & RO ohi SATEAT hifsd | 12

What do you mean by fertility ? Describe
the causes of high fertility in India.

AT
Or

frafafea iesl +t 9edar ¥ 9 S

T I UM hifSTT—

MY W& 15-19({20-29(30-36(37-44|45-49
e @ | 4000 [ 12000 {16000 | 6000 | 2000
Siifea <= |@@A T | 400 | 1800 | 3200 | 600 40

From the following data calculate General
Fertility rate :

Age group 15-19120-29|30-36|37-44|45-49

Female Population | 4000 (12000 | 16000 | 6000 | 2000

No. of live Births | 400 | 1800 | 3200 | 600 40

AAAAANT AAAAA
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(D) IJMO F T P IHFd T2 MO

3. (A)

(B)

(©)

FIfad ST Tt T H2eh] hi STEAT HifeT |
12

What do you understand by migration ? Explain

the factors affecting migration.

3AAT
Or

TSI ¥ 3T R T99d 82 TR &
Y@ HRUT Sl AT Hit |

What do you mean by urbanisation ? Explain the

causes of urbanisation.

ECaEa ||

Unit-III
T &1 yg@ fagand fafe | 2
Write main specific feature of mortality.
g & fafay swro fafem 2

Write various causes of mortality.

TIHH & AfdRdl @M Tl TI@ Heahi i
ST hifeIT | 4

[ 4]

(D)
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Describe the main factors of increasing

mortality.

AT
Or

Tghd § fafa=ar &9 arel SR adrsy |

Describe the causes of differentials in mortality.

TR T A9 1 U2 © 2 Iy ! Faf=a
F 6 YHE S HI AT RS 12

What do you mean by mortality ? Explain
the main factor controlling mortality.

3gAT
Or

fFrefafead THehi s TRl 9 STRNfyd g <X
1 TUAT hifTT—

3g |9g @t § [0-10(10-30(30-50{50-70

70 and

above

STAEEAT 5000 (1000015000 [ 10000 | 2000

R [3 125 | 30 30 200 | 1000

Calculate Crude Death Rate from the
following data :
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